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D:recnans. Choose the word or phrase (1), (2), (3), or (4) that best completes |'
| Eﬂeﬁ sentence. Then mark !‘ﬁc correct chmce on your answer sheet.

1-  The geology student made a surprising discovery; the volcano believed to be ......... was
about to erupt.

1) dormant 2) temporary 3) affable 4 vulnerable
2-  We waited for the storm to ........... before we left.
1) abase 2) abide 3) abridge 4) abate
3- The minister desired the position simply for the .......... associated with it.
1) scope 2) status 3) origin 4) feature
4=  The .ueervin researcher made sure to check her measurements multiple times.
1) initial 2) vague 3) diligent 4) apposite
5-  Denver’s impractical plan to build a subway system was .......... in 1970s,
1) surmised 2) scrapped 3) strived 4) scattered
6~  ...cisseee.. such as hair color and eye color are inherited genetically from one’s parents.
1) Traits 2) Dimensions 3) Omens 4) Enigmas
7-  The company has ....... veee 31000 to the team to get the project started.
1) ascribed 2) bestowed 3) deposited 4) allocated
8- After a week the jury had still not reached a .............
1} status quo 2) sequence 3) verdict 4) suspect
9-  Heavy rains had .......... the expedition’s progress through the north-west of the country.
1) abandoned 2) hindered 3) evaded 4) distressed
10- The rattlesnake is the most ............. snake in the Untied States.
1) venomous 2} zealous 3} haphazard 4y ancestral

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or |
| (4} besr f' ts s each spﬂce. Then mmii the Eﬂn‘ect cﬁmce on your answersﬁeet

The ancient Romans built an extensive and (11) ......... to serve their needs. The Roman road-
building era began in 312 BC. The roads provided economic and military access from Rome to
distant parts of its far-flung empire. The first road (12) .......... the Appian Way, which led,
from Rome to Brundisium (now Brindisi), a port (13) ......... is now southern Italy. The
Appian Way was the main route to Greece, and it ran over 560 km (350 mi). A second road,
from Rome to Naples, provided the first stage of the route (14) .......... by troops headed to
Africa. Roman advances in road-building techniques included preparation of foundation soils
and base courses, brick paving , and, (15) .......... , provision for adequate drainage.

11- 1) roads of durable system 2) system of durable roads
3) durable system of roads 4) durable road of systems

12- 1) was constructed 2) was to construct
3) that was constructed 4) constructed was

13- 1) in which it 2} in what 3) where is 4) which it is

14- 1) used 2) using 3} be used 4) was used

15- 1) the more important 2) most important
3) the most important 4) most importantly
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PART C: Reading Comprehension

| Directions: Read the following three passages and answer the questions by

choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on
_Your answer sheet.

Passage 1:

Employment of computer software engineers is expected to increase by 32 percent from
2008-2018, which is much faster than the average for all occupations. In addition, this
occupation will see a large number of new jobs, with more than 295,000 created between 2008
and 2018. Demand for computer software engineers will increase as computer networking
continues to grow. For example. expanding Internet technologies have spurred demand for
computer software engineers who can develop Internet, intranet, and World Wide Web
applications. Likewise, electronic data-processing systems in business, telecommunications,
healthcare, government, and other settings continue to become more sophisticated and
complex. Implementing, safeguarding, and updating computer systems and resolving problems

will fuel the demand for growing numbers of systems software engineers.

Employment of computer programmers is expected to decline slowly, decreasing by 3
percent from 2008 to 2018. Advances in programming languages and tools, the growing ability
of users to write and implement their own programs, and the offshore outsourcing of

programming jobs will contribute to this decline.

The passage is mainly about

1) the loss of jobs in the software industry.

2) the rise and fall of the computer programmer.

3) job outlook for software engineers and programmers.

4) job descriptions for software engineers and programmers.
What is said about computer programmers?

1) They will be moved overseas.

2) Users will replace them to some extent.

3) They will lose their jobs more often than before.

4) They will be promoted to the rank of Software Engineers.
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The increase in the employment of software engineers can be attributed in part to
1) decreasing demand in the private sector.

2) the continuing growth of computer networking.

3) over-reliance on ageing data-processing systems.

4) the ever-increasing efficacy of software engineering practices.
According to the passage, software engineering jobs

1) are projected to expand.

2) will be distributed over the Internet.

3) are the fastest growing among all professions.

4) will change in nature as applications become more complex.
It can be inferred from the passage that

1) no software engineers will lose their jobs in the future.

2) software engineers will not be affected by outsourcing.

3) all programming tasks will be outsourced in the long run.

4) outsourcing will adversely affect the demand for computer programmers.

Passage 2:

Cloud computing is a marketing term for technologies that provide computation, software,
data access, and storage services that do not require end-user knowledge of the physical
location and configuration of the system that delivers the services. A parallel to this concept
can be drawn with the electricity grid, wherein end-users consume power without needing to

understand the component devices or infrastructure required to provide the service.

Cloud computing describes a new supplement, consumption, and delivery model for IT
services based on Internet protocols, and it typically involves provisioning of dynamically
scalable and often virtualized resources. It is a byproduct and consequence of the ease-of-
access lo remote computing sites provided by the Internet. This may take the form of web-
based tools or applications that users can access and use through a web browser as if the

programs were installed locally on their own computers.
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Cloud computing providers deliver applications via the Internet, which are accessed from web
browsers and desktop and mobile apps, while the business software and data are stored on

servers at a remote location.

In cloud ecomputing,

1) data is stored locally, whereas other resources are provided via web browsers.
2) end-users are responsible for finding the systems that provide remote services.
3) the programs which are made available typically reside on remote computers.
4) models of the software system are delivered through scalable service providers.
Which of the following can be inferred from the passage?

1) Cloud computing relies on the electricity grid.

2) Cloud computing owes its advent to the Internet.

3) Cloud computing will replace all other forms of computing.

4) Cloud computing has increased the complexity of data processing tasks.
According to the passage, cloud computing providers

1) supply mobile apps to Internet users.

2) provide computing services via the Internet.

3) are marketing firms specializing in Internet technologies.

4) are all situated in the same physical location.

The passage implies that the Internet

1) can complicate date processing if not used correctly.

2) was solely intended as a platform for cloud computing.

3) has facilitated the use of remote computing resources.

4) will become more popular if more efficient web browsers are used.

The term “cloud” mainly refers to the fact that in cloud computing

1) the underlying infrastructure and providers are obscured.

2) processing has no constraints.

3) the resources used are all abstract.

4) all resources are properly tested.
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Passage 3:

An Operating System (OS) is a set of programs that manage computer hardware resources and
provide common services for application software. The operating system is the most important
type of system software in a computer system. A user cannot run an application program on the

computer without an operating system, unless the application program is self-booting,

For hardware functions such as input and output and memory allocation, the operating system
acts as an intermediary between application programs and the computer hardware, although the
application code is usually executed directly by the hardware and will frequently call the OS or
be interrupted by it. Operating systems are found on almost any device that contains a

computer—from cellular phones and video game consoles to supercomputers and web servers.

An operating system consists of many parts. One of the most important components is the
kernel, which controls low-level processes that the average user usually cannot see: it controls
how memory is read and written, the order in which processes are executed, how information is
received and sent by devices like the monitor, keyboard and mouse, and decides how to
interpret information received from networks. The user interface is a component that interacts

with the computer user directly, allowing them to control and use programs.

Which of the following titles is most appropriate for this passage?
1) Operating Systems: A Comparative Analysis

2) Operating Systems: Architectural Constituents

3) Operating Systems: Functionality and Structure

4) Operating Systems: Capabilities and Limitations

It can be inferred from the passage that

1) not all computers require an operating system.

2) not every operating system incorporates a kernel.

3) users can never directly interact with an operating system.

4) application programs ¢an never be run without an operating system.



V dxio S10A s g cogos 4l

28- According to the passage, the kernel is typically responsible for
1} running the application code.
2) controlling environmental entities.
3) interacting with the computer user directly.
4) sequencing low-level processes for execution.
29-  Which of the following is stated in the passage?
1) Application programs may require the use of remote resources.
2) Application programs may require the use of hardware resources.
3) Application programs may be coordinated by multiple system software.
4) Application programs may be coordinated by multiple system interfaces.
30-  According to the passage, operating systems typically manage
1) information interchange with I/O devices.
2) information interchange among external systems.
3) information interchange with network administrators.

4) information interchange among program components.
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